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home	/	math	/	percentage	calculator	Please	provide	any	two	values	below	and	click	the	"Calculate"	button	to	get	the	third	value.	Percentage	Calculator	in	Common	Phrases	Percentage	Difference	Calculator	Percentage	Change	Calculator	Please	provide	any	two	values	below	and	click	the	"Calculate"	button	to	get	the	third	value.	In	mathematics,	a
percentage	is	a	number	or	ratio	that	represents	a	fraction	of	100.	It	is	one	of	the	ways	to	represent	a	dimensionless	relationship	between	two	numbers;	other	methods	include	ratios,	fractions,	and	decimals.	Percentages	are	often	denoted	by	the	symbol	"%"	written	after	the	number.	They	can	also	be	denoted	by	writing	"percent"	or	"pct"	after	the
number.	For	example,	35%	is	equivalent	to	the	decimal	0.35,	or	the	fractions	.	Percentages	are	computed	by	multiplying	the	value	of	a	ratio	by	100.	For	example,	if	25	out	of	50	students	in	a	classroom	are	male,	.	The	value	of	the	ratio	is	therefore	0.5,	and	multiplying	this	by	100	yields:	0.5	×	100	=	50	In	other	words,	the	ratio	of	25	males	to	students	in
the	classroom	is	equivalent	to	50%	of	students	in	the	classroom	being	male.	Percentage	formula	Although	the	percentage	formula	can	be	written	in	different	forms,	it	is	essentially	an	algebraic	equation	involving	three	values.	P	×	V1	=	V2	P	is	the	percentage,	V1	is	the	first	value	that	the	percentage	will	modify,	and	V2	is	the	result	of	the	percentage
operating	on	V1.	The	calculator	provided	automatically	converts	the	input	percentage	into	a	decimal	to	compute	the	solution.	However,	if	solving	for	the	percentage,	the	value	returned	will	be	the	actual	percentage,	not	its	decimal	representation.	EX:	P	×	30	=	1.5	P	=	=	0.05	×	100	=	5%	If	solving	manually,	the	formula	requires	the	percentage	in
decimal	form,	so	the	solution	for	P	needs	to	be	multiplied	by	100	in	order	to	convert	it	to	a	percent.	This	is	essentially	what	the	calculator	above	does,	except	that	it	accepts	inputs	in	percent	rather	than	decimal	form.	Percentage	difference	formula	The	percentage	difference	between	two	values	is	calculated	by	dividing	the	absolute	value	of	the
difference	between	two	numbers	by	the	average	of	those	two	numbers.	Multiplying	the	result	by	100	will	yield	the	solution	in	percent,	rather	than	decimal	form.	Refer	to	the	equation	below	for	clarification.	Percentage	Difference	=	×	100	EX:	=	=	0.5	=	50%	Percentage	change	formula	Percentage	increase	and	decrease	are	calculated	by	computing
the	difference	between	two	values	and	comparing	that	difference	to	the	initial	value.	Mathematically,	this	involves	using	the	absolute	value	of	the	difference	between	two	values	then	dividing	the	result	by	the	initial	value,	essentially	calculating	how	much	the	initial	value	has	changed.	The	percentage	increase	calculator	above	computes	an	increase	or
decrease	of	a	specific	percentage	of	the	input	number.	It	basically	involves	converting	a	percent	into	its	decimal	equivalent,	and	either	subtracting	(decrease)	or	adding	(increase)	the	decimal	equivalent	from	and	to	1,	respectively.	Multiplying	the	original	number	by	this	value	will	result	in	either	an	increase	or	decrease	of	the	number	by	the	given
percent.	Refer	to	the	example	below	for	clarification.	EX:	500	increased	by	10%	(0.1)	500	×	(1	+	0.1)	=	550	500	decreased	by	10%	500	×	(1	–	0.1)	=	450	Use	this	calculator	to	find	percentages.	Just	type	in	any	box	and	the	result	will	be	calculated	automatically.	Calculator	1:	Calculate	the	percentage	of	a	number.	For	example:	1%	of	10,000	=	100
Calculator	2:	Calculate	a	percentage	based	on	2	numbers.	For	example:	100/10,000	=	1%	How	much	is	1%	of	10,000?	What	is	1%	of	10,000	and	other	numbers?	1%	of	10,000	=	100	1%	of	12,500	=	125	1%	of	15,000	=	150	1%	of	17,500	=	175	1%	of	10,100	=	101	1%	of	12,600	=	126	1%	of	15,100	=	151	1%	of	17,600	=	176	1%	of	10,200	=	102	1%	of
12,700	=	127	1%	of	15,200	=	152	1%	of	17,700	=	177	1%	of	10,300	=	103	1%	of	12,800	=	128	1%	of	15,300	=	153	1%	of	17,800	=	178	1%	of	10,400	=	104	1%	of	12,900	=	129	1%	of	15,400	=	154	1%	of	17,900	=	179	1%	of	10,500	=	105	1%	of	13,000	=	130	1%	of	15,500	=	155	1%	of	18,000	=	180	1%	of	10,600	=	106	1%	of	13,100	=	131	1%	of
15,600	=	156	1%	of	18,100	=	181	1%	of	10,700	=	107	1%	of	13,200	=	132	1%	of	15,700	=	157	1%	of	18,200	=	182	1%	of	10,800	=	108	1%	of	13,300	=	133	1%	of	15,800	=	158	1%	of	18,300	=	183	1%	of	10,900	=	109	1%	of	13,400	=	134	1%	of	15,900	=	159	1%	of	18,400	=	184	1%	of	11,000	=	110	1%	of	13,500	=	135	1%	of	16,000	=	160	1%	of
18,500	=	185	1%	of	11,100	=	111	1%	of	13,600	=	136	1%	of	16,100	=	161	1%	of	18,600	=	186	1%	of	11,200	=	112	1%	of	13,700	=	137	1%	of	16,200	=	162	1%	of	18,700	=	187	1%	of	11,300	=	113	1%	of	13,800	=	138	1%	of	16,300	=	163	1%	of	18,800	=	188	1%	of	11,400	=	114	1%	of	13,900	=	139	1%	of	16,400	=	164	1%	of	18,900	=	189	1%	of
11,500	=	115	1%	of	14,000	=	140	1%	of	16,500	=	165	1%	of	19,000	=	190	1%	of	11,600	=	116	1%	of	14,100	=	141	1%	of	16,600	=	166	1%	of	19,100	=	191	1%	of	11,700	=	117	1%	of	14,200	=	142	1%	of	16,700	=	167	1%	of	19,200	=	192	1%	of	11,800	=	118	1%	of	14,300	=	143	1%	of	16,800	=	168	1%	of	19,300	=	193	1%	of	11,900	=	119	1%	of
14,400	=	144	1%	of	16,900	=	169	1%	of	19,400	=	194	1%	of	12,000	=	120	1%	of	14,500	=	145	1%	of	17,000	=	170	1%	of	19,500	=	195	1%	of	12,100	=	121	1%	of	14,600	=	146	1%	of	17,100	=	171	1%	of	19,600	=	196	1%	of	12,200	=	122	1%	of	14,700	=	147	1%	of	17,200	=	172	1%	of	19,700	=	197	1%	of	12,300	=	123	1%	of	14,800	=	148	1%	of
17,300	=	173	1%	of	19,800	=	198	1%	of	12,400	=	124	1%	of	14,900	=	149	1%	of	17,400	=	174	1%	of	19,900	=	199	In	order	to	calculate	10%	of	10000	let's	write	it	as	fractional	equation.We	have	10000	=	100%	and	X	=	10%.	So	our	fraction	will	look	like:Now	we	can	solve	our	fraction	by	writing	it	as	an	equation:X	=	(10000	×	10)	÷	100	=	X	=	100000
÷	100	=	X	=	1000Therefore,	10%	of	10000	is	1000Another	way	to	solve	our	problem	is	to	find	the	value	of	1%	of	the	number	and	then	multiply	it	by	the	number	of	percent	(10).	To	find	1%	of	a	number	10000	you	need	to	divide	it	by	100:X	=	(10000	÷	100)	×	10	=	X	=	100	×	10	=	X	=	1000So	we	got	the	same	result	again:	1000Page	2In	order	to
calculate	10%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	10)	÷	100	=	100000	÷	100	=	1000Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	1000	=	9000That's	it!	An	item	that	costs	$10000,	when	discounted	10%,	will	cost	$9000.Page	3In	order	to	calculate	15%	off	10000	let's	first	find
the	discount:Discount	=	(10000	×	15)	÷	100	=	150000	÷	100	=	1500Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	1500	=	8500That's	it!	An	item	that	costs	$10000,	when	discounted	15%,	will	cost	$8500.Page	4In	order	to	calculate	5%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	5)	÷
100	=	50000	÷	100	=	500Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	500	=	9500That's	it!	An	item	that	costs	$10000,	when	discounted	5%,	will	cost	$9500.Page	5In	order	to	calculate	25%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	25)	÷	100	=	250000	÷	100	=	2500Subtract	the
discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	2500	=	7500That's	it!	An	item	that	costs	$10000,	when	discounted	25%,	will	cost	$7500.Page	6In	order	to	calculate	20%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	20)	÷	100	=	200000	÷	100	=	2000Subtract	the	discount	from	the	initial	price	to	get
the	discounted	price:Discounted	Price	=	10000	-	2000	=	8000That's	it!	An	item	that	costs	$10000,	when	discounted	20%,	will	cost	$8000.Page	7In	order	to	calculate	30%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	30)	÷	100	=	300000	÷	100	=	3000Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price
=	10000	-	3000	=	7000That's	it!	An	item	that	costs	$10000,	when	discounted	30%,	will	cost	$7000.Page	8In	order	to	calculate	35%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	35)	÷	100	=	350000	÷	100	=	3500Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	3500	=	6500That's	it!	An
item	that	costs	$10000,	when	discounted	35%,	will	cost	$6500.Page	9In	order	to	calculate	50%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	50)	÷	100	=	500000	÷	100	=	5000Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	5000	=	5000That's	it!	An	item	that	costs	$10000,	when
discounted	50%,	will	cost	$5000.Page	10In	order	to	calculate	40%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	40)	÷	100	=	400000	÷	100	=	4000Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	4000	=	6000That's	it!	An	item	that	costs	$10000,	when	discounted	40%,	will	cost
$6000.Page	11In	order	to	calculate	60%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	60)	÷	100	=	600000	÷	100	=	6000Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	6000	=	4000That's	it!	An	item	that	costs	$10000,	when	discounted	60%,	will	cost	$4000.Page	12In	order	to	calculate
70%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	70)	÷	100	=	700000	÷	100	=	7000Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	7000	=	3000That's	it!	An	item	that	costs	$10000,	when	discounted	70%,	will	cost	$3000.Page	13In	order	to	calculate	75%	off	10000	let's	first	find	the
discount:Discount	=	(10000	×	75)	÷	100	=	750000	÷	100	=	7500Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	7500	=	2500That's	it!	An	item	that	costs	$10000,	when	discounted	75%,	will	cost	$2500.Page	14In	order	to	calculate	75%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	75)	÷
100	=	825000	÷	100	=	8250Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	8250	=	2750That's	it!	An	item	that	costs	$11000,	when	discounted	75%,	will	cost	$2750.Page	15In	order	to	calculate	5%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	5)	÷	100	=	55000	÷	100	=	550Subtract	the
discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	550	=	10450That's	it!	An	item	that	costs	$11000,	when	discounted	5%,	will	cost	$10450.Page	16In	order	to	calculate	15%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	15)	÷	100	=	165000	÷	100	=	1650Subtract	the	discount	from	the	initial	price	to	get
the	discounted	price:Discounted	Price	=	11000	-	1650	=	9350That's	it!	An	item	that	costs	$11000,	when	discounted	15%,	will	cost	$9350.Page	17In	order	to	calculate	10%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	10)	÷	100	=	110000	÷	100	=	1100Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted
Price	=	11000	-	1100	=	9900That's	it!	An	item	that	costs	$11000,	when	discounted	10%,	will	cost	$9900.Page	18In	order	to	calculate	20%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	20)	÷	100	=	220000	÷	100	=	2200Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	2200	=	8800That's
it!	An	item	that	costs	$11000,	when	discounted	20%,	will	cost	$8800.Page	19In	order	to	calculate	25%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	25)	÷	100	=	275000	÷	100	=	2750Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	2750	=	8250That's	it!	An	item	that	costs	$11000,	when
discounted	25%,	will	cost	$8250.Page	20In	order	to	calculate	35%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	35)	÷	100	=	385000	÷	100	=	3850Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	3850	=	7150That's	it!	An	item	that	costs	$11000,	when	discounted	35%,	will	cost
$7150.Page	21In	order	to	calculate	30%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	30)	÷	100	=	330000	÷	100	=	3300Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	3300	=	7700That's	it!	An	item	that	costs	$11000,	when	discounted	30%,	will	cost	$7700.Page	22In	order	to	calculate
40%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	40)	÷	100	=	440000	÷	100	=	4400Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	4400	=	6600That's	it!	An	item	that	costs	$11000,	when	discounted	40%,	will	cost	$6600.Page	23In	order	to	calculate	50%	off	11000	let's	first	find	the
discount:Discount	=	(11000	×	50)	÷	100	=	550000	÷	100	=	5500Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	5500	=	5500That's	it!	An	item	that	costs	$11000,	when	discounted	50%,	will	cost	$5500.Page	24In	order	to	calculate	60%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	60)	÷
100	=	660000	÷	100	=	6600Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	6600	=	4400That's	it!	An	item	that	costs	$11000,	when	discounted	60%,	will	cost	$4400.Page	25In	order	to	calculate	70%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	70)	÷	100	=	770000	÷	100	=
7700Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	7700	=	3300That's	it!	An	item	that	costs	$11000,	when	discounted	70%,	will	cost	$3300.Page	26In	order	to	calculate	70%	off	12000	let's	first	find	the	discount:Discount	=	(12000	×	70)	÷	100	=	840000	÷	100	=	8400Subtract	the	discount	from	the
initial	price	to	get	the	discounted	price:Discounted	Price	=	12000	-	8400	=	3600That's	it!	An	item	that	costs	$12000,	when	discounted	70%,	will	cost	$3600.	In	order	to	calculate	1%	of	10000	let's	write	it	as	fractional	equation.We	have	10000	=	100%	and	X	=	1%.	So	our	fraction	will	look	like:Now	we	can	solve	our	fraction	by	writing	it	as	an
equation:X	=	(10000	×	1)	÷	100	=	X	=	10000	÷	100	=	X	=	100Therefore,	1%	of	10000	is	100Another	way	to	solve	our	problem	is	to	find	the	value	of	1%	of	the	number	and	then	multiply	it	by	the	number	of	percent	(1).	To	find	1%	of	a	number	10000	you	need	to	divide	it	by	100:X	=	(10000	÷	100)	×	1	=	X	=	100	×	1	=	X	=	100So	we	got	the	same	result
again:	100Page	2In	order	to	calculate	10%	of	10000	let's	write	it	as	fractional	equation.We	have	10000	=	100%	and	X	=	10%.	So	our	fraction	will	look	like:Now	we	can	solve	our	fraction	by	writing	it	as	an	equation:X	=	(10000	×	10)	÷	100	=	X	=	100000	÷	100	=	X	=	1000Therefore,	10%	of	10000	is	1000Another	way	to	solve	our	problem	is	to	find	the
value	of	1%	of	the	number	and	then	multiply	it	by	the	number	of	percent	(10).	To	find	1%	of	a	number	10000	you	need	to	divide	it	by	100:X	=	(10000	÷	100)	×	10	=	X	=	100	×	10	=	X	=	1000So	we	got	the	same	result	again:	1000Page	3In	order	to	calculate	10%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	10)	÷	100	=	100000	÷	100	=
1000Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	1000	=	9000That's	it!	An	item	that	costs	$10000,	when	discounted	10%,	will	cost	$9000.Page	4In	order	to	calculate	15%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	15)	÷	100	=	150000	÷	100	=	1500Subtract	the	discount	from	the
initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	1500	=	8500That's	it!	An	item	that	costs	$10000,	when	discounted	15%,	will	cost	$8500.Page	5In	order	to	calculate	5%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	5)	÷	100	=	50000	÷	100	=	500Subtract	the	discount	from	the	initial	price	to	get	the	discounted
price:Discounted	Price	=	10000	-	500	=	9500That's	it!	An	item	that	costs	$10000,	when	discounted	5%,	will	cost	$9500.Page	6In	order	to	calculate	25%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	25)	÷	100	=	250000	÷	100	=	2500Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	2500
=	7500That's	it!	An	item	that	costs	$10000,	when	discounted	25%,	will	cost	$7500.Page	7In	order	to	calculate	20%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	20)	÷	100	=	200000	÷	100	=	2000Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	2000	=	8000That's	it!	An	item	that	costs
$10000,	when	discounted	20%,	will	cost	$8000.Page	8In	order	to	calculate	30%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	30)	÷	100	=	300000	÷	100	=	3000Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	3000	=	7000That's	it!	An	item	that	costs	$10000,	when	discounted	30%,	will
cost	$7000.Page	9In	order	to	calculate	35%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	35)	÷	100	=	350000	÷	100	=	3500Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	3500	=	6500That's	it!	An	item	that	costs	$10000,	when	discounted	35%,	will	cost	$6500.Page	10In	order	to
calculate	50%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	50)	÷	100	=	500000	÷	100	=	5000Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	5000	=	5000That's	it!	An	item	that	costs	$10000,	when	discounted	50%,	will	cost	$5000.Page	11In	order	to	calculate	40%	off	10000	let's	first
find	the	discount:Discount	=	(10000	×	40)	÷	100	=	400000	÷	100	=	4000Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	4000	=	6000That's	it!	An	item	that	costs	$10000,	when	discounted	40%,	will	cost	$6000.Page	12In	order	to	calculate	60%	off	10000	let's	first	find	the	discount:Discount	=	(10000
×	60)	÷	100	=	600000	÷	100	=	6000Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	6000	=	4000That's	it!	An	item	that	costs	$10000,	when	discounted	60%,	will	cost	$4000.Page	13In	order	to	calculate	70%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	70)	÷	100	=	700000	÷	100	=
7000Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	7000	=	3000That's	it!	An	item	that	costs	$10000,	when	discounted	70%,	will	cost	$3000.Page	14In	order	to	calculate	75%	off	10000	let's	first	find	the	discount:Discount	=	(10000	×	75)	÷	100	=	750000	÷	100	=	7500Subtract	the	discount	from	the
initial	price	to	get	the	discounted	price:Discounted	Price	=	10000	-	7500	=	2500That's	it!	An	item	that	costs	$10000,	when	discounted	75%,	will	cost	$2500.Page	15In	order	to	calculate	75%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	75)	÷	100	=	825000	÷	100	=	8250Subtract	the	discount	from	the	initial	price	to	get	the	discounted
price:Discounted	Price	=	11000	-	8250	=	2750That's	it!	An	item	that	costs	$11000,	when	discounted	75%,	will	cost	$2750.Page	16In	order	to	calculate	5%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	5)	÷	100	=	55000	÷	100	=	550Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	550	=
10450That's	it!	An	item	that	costs	$11000,	when	discounted	5%,	will	cost	$10450.Page	17In	order	to	calculate	15%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	15)	÷	100	=	165000	÷	100	=	1650Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	1650	=	9350That's	it!	An	item	that	costs
$11000,	when	discounted	15%,	will	cost	$9350.Page	18In	order	to	calculate	10%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	10)	÷	100	=	110000	÷	100	=	1100Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	1100	=	9900That's	it!	An	item	that	costs	$11000,	when	discounted	10%,	will
cost	$9900.Page	19In	order	to	calculate	20%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	20)	÷	100	=	220000	÷	100	=	2200Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	2200	=	8800That's	it!	An	item	that	costs	$11000,	when	discounted	20%,	will	cost	$8800.Page	20In	order	to
calculate	25%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	25)	÷	100	=	275000	÷	100	=	2750Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	2750	=	8250That's	it!	An	item	that	costs	$11000,	when	discounted	25%,	will	cost	$8250.Page	21In	order	to	calculate	35%	off	11000	let's	first
find	the	discount:Discount	=	(11000	×	35)	÷	100	=	385000	÷	100	=	3850Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	3850	=	7150That's	it!	An	item	that	costs	$11000,	when	discounted	35%,	will	cost	$7150.Page	22In	order	to	calculate	30%	off	11000	let's	first	find	the	discount:Discount	=	(11000
×	30)	÷	100	=	330000	÷	100	=	3300Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	3300	=	7700That's	it!	An	item	that	costs	$11000,	when	discounted	30%,	will	cost	$7700.Page	23In	order	to	calculate	40%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	40)	÷	100	=	440000	÷	100	=
4400Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	4400	=	6600That's	it!	An	item	that	costs	$11000,	when	discounted	40%,	will	cost	$6600.Page	24In	order	to	calculate	50%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	50)	÷	100	=	550000	÷	100	=	5500Subtract	the	discount	from	the
initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-	5500	=	5500That's	it!	An	item	that	costs	$11000,	when	discounted	50%,	will	cost	$5500.Page	25In	order	to	calculate	60%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	60)	÷	100	=	660000	÷	100	=	6600Subtract	the	discount	from	the	initial	price	to	get	the	discounted
price:Discounted	Price	=	11000	-	6600	=	4400That's	it!	An	item	that	costs	$11000,	when	discounted	60%,	will	cost	$4400.Page	26In	order	to	calculate	70%	off	11000	let's	first	find	the	discount:Discount	=	(11000	×	70)	÷	100	=	770000	÷	100	=	7700Subtract	the	discount	from	the	initial	price	to	get	the	discounted	price:Discounted	Price	=	11000	-
7700	=	3300That's	it!	An	item	that	costs	$11000,	when	discounted	70%,	will	cost	$3300.
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